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Each question has one mark. A TOTAL MARKS: 70
o1 - | (18)
For questions, I to 3 choose the alternative which is closely related to the mirror image of the given combination.

(1 TARAIN1D14A
(L) ABLOTUIARAL
(3} ALOTATARAIU

(2 A OrBALARAT
(4) AbTO AT ARAT

(A 1 By 2
€ 3 D) 4
) BR4AQ16H|
(1) {H8 tDARSE (2) {HBIQA LSS
(3) IHa QA MRS (4) THIIDABRE
A 1 (B) 2
© 3 D 4
(3) Nu56p7uR
(1YHWuvedqTua 2) AnYgoenk
(3) AuNgdduM (4) quvdgaul
Ay 1 B 2
© 3 o 4

For questions, 4 to 6 choose the alternative which is closeb! related to the water image of the giveh combination.

4 NHRqSy

(1) NUKA2A  (2) nygda )
(3) HUYDRA (4 UpPgda A

Ay 1 ®) 2

© 3 (D) 4
(5 NUCLEAR

(1) BYErCUM (2) UNCIEVK

(3} MUCravg {4) UNCIEVYK

Ay 1 B) 2

© 3 (D) 4
6) ES8t4e9C

(1)383:b980D (2) EG 180D

(3YdgIvesC (2 EGIY650

(A) 1 ®| 2

3 D) 4
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For questions, 7to 9 find out the alternative figure which contains figure (X) as its part.
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X) S ) B¢ @
A) 1 B) 2
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X) n @ @ @
(a) 1 (B)
©) 3 (D)

For questions, 10 to 12 choose the set of figure which Jollows the given rule.

Rule : Closed figures become more and more open and open figures become more and more closed,
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Rule : The series becomes simpler as it proceeds.
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© 3

- Rule : As the circle decrease in size, its sectors increase in mitmber
a2) ..

DIV | | e
HORIBE
olDefe]e
QD[ @ e
(A) 1
<) 3

For questions, 13 {o IS find out the figure which is different from the rest.

(Classification) o
B A P

Mm@ G @ 6

(A) 1
© 3

as$ 7 '
m Q6 @
Ay 1
© 3

“ TATFIZTEIN

O @ 6 @& e
(a) 1
© 3

(16y  Find out the alternative figure which contains figure (X) as its part.
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(17y ' Find out the alternative figure which contains figure (X) as its part.
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Find out the alternative figure which contains figure (X) as its patrt,
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® O @ o @
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< 3 _ : D) 4

17
If 6th March, 2005 is Monday, what was the day of the week on 6th March, 2004°

(A)  Sunday (B)  Saturday

(C)  Tuesday (D)  Wednesday
On 8th Feb, 2005 it was Tuesday. What was the day of the week on 8th Feb, 20049

(A)  Tuesday (B) Moﬁday

{C)  Sunday . (D)  Wednesday
Januvary 1, 2008 is Tuesday. What day of the week lies on Jan 1, 20097

(A) Monday - (BY Wednesday
(C}  Thursday 7 : (D)  Sunday
Which of the following is not a Ieap year?

(A) 700 (B) 800
(C) 1200 (D) 2000
3,511, 14,17, 21

(A 21 ® 17
© 14 _ D 3
-8,27,64, 100, 125, 216, 343

(A) 27 (B) 100
C© 125 (D) 343
10, 25, 45, 54, 60, 75, 80

(A) 10 (B) 45
(C) 54 , (D) 75
396,462, 572, 427, 671, 264

(A) 396 (B) 427
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(13)
(14)

(15)

(16)

a7

Q-3

€y o7 (D) 264

In the first 10 overs of a cricket game, the run rate was only 3.2. What should be the run rate in the
remaining 40 overs fo reach the target of 282 runs?

(A) 6.75 B 625

©C) 65 o 7

A grocer has a sale of Rs. 6435, Rs. 6927, Rs. 6855, R's. 7230 and Rs. 6562 for 5 consecutive months,
How much sale must he have in the sixth month so that he gets an average sale of Rs. 65007

(A) Rs.4991 (B) Rs. 5991
(©) Rs. 6001 _ (D) Rs. 6991

The average of 20 numbers is zero. Of them, at the most, how many may be greater than zero?

(A) 0 B) 1
€y 10 D) 19

The average weight of 8 person's increases by 2.5 kg when a new person comes in place of one of them
weighing 65 kg. What might be the weight of the new person?

(A) 76kg (B) 765kg
© 85ke ©) 80 ke
331, 482, 551, 263, 383, 362, 284

(A) 263 (B) 38
© 331 (D) 551
41,43, 47,53, 61,71, 73, 81

(a) 61 . ' ®) 71

© 73 D) 81

A can do a work in 15 days and B in 20 days. If they work on it together for 4 days, then the fraction of the

work that is left is ;

A 14 (B) 1/10

€ 715 ) 8/15
A, B and C can do a piece of work in 20, 30 and 60 days respectively. In how many days can A do the

“work if he is assisted by B and C on every third day?

(A) 12 days (B} 15days
(C) [I7days (D) 18 days

A alone can do a piece of work in 6 days and B alone in 8 days. A and B undertook to do it for Rs.

3200. With the help of C, they completed the work in 3 days. How much is to be paid to C?
(A) Rs.375 (B) Rs400
(C) Rs.600 (D) Rs.850

For questions, 1 to 6 Which of the follo wing diagrams indicates the best relations.

Read the following information and give the answer.
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Grandfather, Father and Son?

"

Dogs, Pet animals and animals?
(A)
O

Sailor, Ship and Ocean?

“ @

Teacher, Men and Women?

" O
© Q@D

Football, Player and Field?

> O
)

(
Gold, Metal and Zinc?

(A) @
:

(B)

(D)

(B)

D)

(B}

D)

(B




For questions, 7 to 11 read the Jollowing information and give the answers ;

[:] — Trained nurses

3 IR O — Married population

=]
,/( = A — Nurses in haospital

(N ' If hospital management requires only married trained r;urses for operation theatre, which part of
diagram should be chosen by him?

Ay 7 ® 4
) 5 Dy s

(8) By which number, married but untrained nurses in the hospital are represented?

@ 4 ® 6

< 7 D) 5
(9) By which numbers trained nurses are represented?
(A) 3,6 : (B) 75
(C) 5.6 . . D) 1,5
(10)  What is represented by the number 77
(A) Married nurses in the hospital (B) Trained nurses
. (C)  Unmarried trained murses ' (D)  Married trained nurses

(11) By which number, the trained unmarried nurses in the hospital are represented 7

(A) 6 B 5
< 7 o) 4

For questions, 12 : Study the diagram and identify the people who can speak only one language.:

English A Hindi
(Y0
Tamii

(A) L+M+0 (B) K+J+1
(©) K D) 1

For questions, 13 to 17 : Study the Jollowing figure and answer the questions given below.

I:] — Married people

E O —> People who live in joint farnily

A —» School teachers

' '(l 3) By which letter, the married teachers who live in joint family are represented?

(A) R B Q
© s (D) P

&




(14)

(15)

- (16)

(a7

(1)
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Q)

“)

(5)
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(D

8
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. By which letter, the married people who live in joint family but not are school teachers are represented?

(A) R B U
(C) s ' D) p

By which letter, the people wiio live in joint family but are neither married for teachers are represented?
A T B) R

© Q | ™ s

By which letter, only school teachers are presented? _

(a) T (B) P

© u D) R

By which letter, the married People who also school teachers but neither live in joint family?
(A) s B T

€ R D Q

.DIVA : OPERA

(A) Producer : theatre (B) Director :drama

(¢) Conductor : bus (D)  Thespian : play
GRAIN : SALT

(A) Shard :pottery (B)  Shred :wood

(C)  Blades :grass . D)  Answer: Option
QPO,MNL,KJL, ___ EDC

(A) HGF B) caB

(€©) JKL D) gl

PAIN : SEDATIVE

(A}  Comfort : stimulant (B)  Grief: consolation
(C)  Trance : narcotic (D) Ache : extraction
LIGHT:BLIND

(A) Speech-:dumb (B) Language : dear

(C) Tongue : sound (D)  Voice : vibration
WAN:COLOUR

(A) Corpulent : weight (B) . Insipid ; flavour

© Pallid : complexion (D) Enigmatic : puzzle
INTEREST : OBSESSION _

(A) Mood : Feeling (B)  Weeping : Sadness
(© Dream:Fantasy (D) Plan : Negation
AFTER:BEFORE ‘

(A) First : second ' (B)  Present : past

© Contemporary : historic (D)  Successor predecessor
INDIGENT :WEALTHY

(A) Angry:Rich (B) Native : Affluent

(C) Gauche : Graceful (D) Scholarly : Frudite

as)




(10) DISTANCE:MILE

(A} Liquid : litre (B) Bushel : comn
(C)  Weight : scale {D) Fame : television
(11}  Odometer is to mileage as compass is fo
(A) Speed (B) Hiking
{C) Needle (D)  Direction
(12)  Marathon is to tace as hibernation is to
(A)  winter {B) bear
(C}  dream (D)  sleep
(13)  Window is to pane as book is to
{A) Novel (B) Glass
{C} Cover ' (D)  Page
(14)  Cup is to coffee as bowl is to
(A) Dish - (B)  Soup
{C) Spoon (D) Food
{I5)  Yard is to inch as quart is to
{A) Gallon (B) Ounce
(C) Milk ' (D) Liquid
(16)  Optimist is to cheerful as pessimist is to
(A} Gloomy (B} Mean
-(C)  Petty (1)  Helptul
(17)  Reptile is to lizard as flower is to
(A) Petal (B} Stem
(C) Daisy (D)  Alligator
(18)  Filter : Water
(A) Curtail ; Activity . {B)  Expunge : Book
{C)  Edit: Text (D}  Censor : play

()
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Q-1 (18)
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&) TARAIN1D14A
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GYATOPATARA LY

(2) AOT AU ARAT.
{4 ARFOMUTASIAT

(A) | 1 , (B)

©) |3 ' : (D)

(2) | BR4AQ1IGH!
(1) HBTOAMSAE  (2) [HELQAMSS
(3) (HOIOAMIE (4) IHOIDAMRE

A} 1 : (B)

1{C) |3 (D) | 4

(3) NuS6pTuR
(1)HUudaqTuf (2) AnYgd&nH
(3YHuYqodul (4) Auvdoculs

(A) |1 . ' {B) |2

C) |3 D) 14

v ¥ el 5 uR ol et Rseduisll dwsd ez Seet 2t waie 59 cilol L.

4 NhRqgSy

(1) NpgdeA
(3) ppydgA

(2) UYEdaA
T {4) YpgdaA

(A) |1

©) |3

(D)

NUCLEAR
(1) BYEICUH
) KWUGTravy

(2) UNCIEVY
(4} UINCIrEVE

A |1

B) |2

©) |3

D)

(6)

E8t4e9C
(1) 3814900
(3) 384 1960

(Y EBIHORD
(3) EglitesC

(A)

(8)

) |3

(D)

(o

(70
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{A) |1 (B)
(€) |3 : (D) | 4
Rat; B o AsRU sle] a1 ostet A Aol @etotod 52405 Audl 512l 8.
@ Qdlele]
[ D@|e|e
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(A) |1 ' (B |2
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(13) |
b Pt B i
(@ @ @ (5
(A) (B) | (E)
1(© {3 , . (D)
14 "
Y Tw vl
M @ G @ 6
(A) | 1 (B) (E)
€ |3 . (D)
(15)
| AlFIZ|EIN
I @ 3 @ ©
(A) | 1 (B) (E)
{C) |3 {D)
(16) | AslcUs gl N Fui 2R (x) Aot euol a3 B,
| 00/ 01RR] L=
U_!:l | e Y vy gl
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(A) | 1 (B)
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(A) | 1 (B)
)3 (D)
(18) | dslAs R N Fui UEA (x) Astt ouol A3 D,
= B9 = e
(X) 1 (2) 3) 4
. (A) |1 ' By |2
(C) |3 (D)
Q-2 (17)
() [ % 68l Wi, 2005 QMR B, A 630l M2, 2008 oll T uscllallell Bay 2 sdl?
——
(A) | 2Qcuz B) | allauz
(C) | vz D) | @z
@) | 8l 3eg2udl, 20050 Ao roaee &<ll. 83l Jo2udl, 200401 INog Alcliell [Bay 52 odl?
(A) | Holaz (B} | Arauz
©) | Reuz (D) | 2Qecu2
| @ | 1 wteqaud), 2008 riviaciz B 1 o34l 2009 ot A viscUBaiol 520 Rz 24 By
(A) | e (B) | guarz
(©) | szeur (D) | 2@z
)| A Aatiniall 53 o oiefl?
(A) | 700 (B) [ 800
(C) | 1200 (D) {2000
(5) |3,5 11,14, 17, 21
(A |21 ®) |17
(C) | 14 (D) | 3
(6) |8, 27,64, 100, 125, 216, 343
(A |27 ‘ (B) 1100
(C) [ 125 (D) | 343
(7) ] 10,25, 45, 54, 60, 75, 80
(A) | 10 (B) {45
) | 54 D) |75
(8) | 396, 462, 572, 427, 671, 264
(A) | 396 (B) | 427
(C) | 671 (D) { 264




(332 2uctoll Yo 10 AMctul 201 ¥z Ui 3.2 &l 282 2etolt clgal Yell udlal HB cudloll

)
40 2lcRul et 22 B2l Al ATA?
(A) | 6.75 (B) |6.25
(C) | 6.5 | Dy |7
(10) | A5 sRausue] Al 3. 6435, 3. 6927, 3. 6855, 3. 7230 ol 3. 6562 Uclct 5 HRs1L W2, v8L
HEettni dofl WA §ac§ AL A ATV Bl dAst UL 3.0f AR KA. 65007
(A) | Rs. 4991 (B) | Rs. 5991
(C) | Rs. 6001 : (D) | Rs. 6991
(1) | 20 divaualoll ada1al 9ot B, Quiell, ayui ay, eet Yot scll ay Ae w37
(A} | O . (B) |1
) | 10 ' ' (D) | 19
{12) | % 65 (Bl aoget tRtelct Asoll oDl ofcll caulfel 2UA B U 8 cu@?tou AR A%
2.5 Bllell cutd s B. ol Alle] closet 9 A AB?
(A} | 76 kg {B) | 76.5kg
(C) | 85kg (D) | 80 kg
(13) | 331, 482, 551, 263, 383, 362, 284
(A | 263 , (B) | 383
C) | 331 (D) | 551
(14) | 41,43, 47,53, 61,71, 73,81
(A) | 61 (B) | 71
(C) |73 (D) | 81
(15) | A 53 15 Ralul el B 20 Rariatd 53l 23 8. 91 Al Aot U2 4 Bay 0l vofla st 52
B, ol wldl 23l stuoll wygls ___ @
(A | 114 (B) | 110
(©) | 7115 (D) | 8/15
(18) | A, B ol C uais 20, 30 vl 60 Rauui 3ls st sl 23 B. e2 ot Rad BuA Calal
HEE sReltil A dl A deall [Bauui st 59 a3
{A) | 12 days (B) | 15 days
(C) | 17 days (D) | 18 days
(17) | A Ascll 6 Raaui UR B AsAl 8 Bauni st 58 23 B, A2 B3l 340 A srcilef sla 4,

3200. C ofl Heeell, ARNA 3 Rauni st yal 59, ¢ A deell ysael s2euell B7

(A) | Rs. 375 (B) | Rs.400

(C) | Rs.600 | (D) | Rs.850
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